
Beanie Hat
A Very Simple Knit in Acrylic DK,tension 22 st x 30 row = 10cm

Toddler: Head - 43cm C x 36 cm O
Hat - 37cm C x 35 cm O

Ex. Small: Head - 47cm C x 38 cm O
Hat - 40cm C x 37 cm O

Small: Head - 52cm C x 40 cm O
Hat - 44cm C x 39 cm O

Medium: Head - 55cm C x 44 cm O
Hat - 48cm C x 43 cm O

Large: Head - 60cm C x 50 cm O C = Circumference, O = Over Crown
Hat - 52cm C x 48 cm O

Toddler size.

Knit A)x1 B)x 1 C)x0 D)x0 E)x4 F)x1 G)x1

Ex. Small size.

Knit A)x1 B)x 1 C)x0 D)x1 E)x3 F)x1 G)x1

Small size.

Knit A)x1 B)x 1 C)x0 D)x2 E)x2 F)x1 G)x1

Medium size.

Knit A)x1 B)x 1 C)x1 D)x2 E)x2 F)x1 G)x1

Large size.

Knit A)x1 B)x 1 C)x2 D)x2 E)x2 F)x1 G)x1



A) Using 3.25mm needles cast on 81 (89, 97, 105, 113) stitches.
Row 1 - (Knit 1, Purl 1) repeat to end, Knit last stitch, turn
Row 2 - (Purl 1, Knit 1) repeat to end, Purl last stitch, turn
Repeat these 2 rows 7 times = 14 rows (1x1 Rib)

B) Change to 4mm needles
Knit 10 rows (garter stitch)

C) Knit to end of row, turn then Purl to end of row.
Repeat these 2 rows 5 times = 10 rows (stocking stitch)
Knit to end of row,  Turn then knit to end of row = 2 rows (garter stitch)

D) Knit to end of row, turn then Purl to end of row.
Repeat these 2 rows 4 times = 8 rows (stocking stitch)
Knit to end of row,  Turn then knit to end of row = 2 rows (garter stitch)

E) Knit to end of row, turn then Purl to end of row.
Repeat these 2 rows 3 times = 6 rows (stocking stitch)
Knit to end of row, Turn then knit to end of row = 2 rows (garter stitch)

F) *Knit 6, Knit 2 together* to end of row Knit last stitch, turn then Purl to end 
of row.
*Knit 5, Knit 2 together* to end of row Knit last stitch, turn then Purl to end 
of row.
*Knit 4, Knit 2 together* to end of row Knit last stitch, turn then Purl to end 
of row.
*Knit 3, Knit 2 together*  to end of row. Turn then knit to end of row = 2 
rows (garter stitch)
*Knit 2, Knit 2 together* to end of row Knit last stitch, turn then Purl to end 
of row.
*Knit 1, Knit 2 together* to end of row Knit last stitch, turn then Purl to end 
of row.
*Knit 2 together* to end of row Knit last stitch, turn then Purl to end of row.
*Knit 2 together*  to end of row.  Turn then knit to end of row = 2 rows 
(garter stitch)

G) Until 6(6, 7, 7, 8) stitches remaining. Repeat
*Knit 2 together* to end of row Knit last stitch, turn then Purl to end of row.

Cut yarn at approx 40cm. Thread yarn through remaining stitches, pull 
tight, stitch side seam.


